: ) teurmusabmﬂﬁ:le&matherh:ghschooldocﬂodmhokatthepmpomonof
s’é:demswhoﬂayvarsrtysponsandsmdmiswhommaﬂﬂzmdubs. She found that 50% of
..:  thostudents arc involved in varsity sports throughout the year while 20% were involved in ]
"%. . afhletic clubs throughout the year.’ She also found an overlap of 15% of the students that are

R involved in both varsity sports and afhiletic clubs throughout the year. What’s the probability that | h
a random student at this high school will be involved with varsity sports OR athletic olubs? - i

T
s IR e e

e a) 25% —
e b) 70% ;
c) 15% .
L d) 55%
e) 45% “ |

-y,
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} 29 'Call a household prosperous if ifs income exceeds $75, 000. Call the |

‘household educated if the householder completed college. Select an

' American household at random, and let A be the event that the selected

¢ "= household is prosperous and B the event that it is educated. According to

- " the Census Bureau, P(A) = .125, P(B) = .237, and the joint probability

W that a household is both prosperous and educated is P(A and B) = .077.

3"" What is the probability P(A or B) that the household selected is either
prospermis or e&ucabsd-?

7 that shows the relation Between the events A'aad
: ' Indlcate ¢dch of the following évents on your diagrati -
il ) and use the mformatmn in Exercxsé'ﬁﬁ‘to ca]c_:ufate the probabﬂlty of .

@ {A and B}
) __{A and B¢} «

3> PROSPERITY AND EDUCA’I‘ION Call a household prosperous if its income exceeds
$100,000. Call the household educated if the householder completed college. Select an American
household at random, and let A be the event that the selected household is prosperous and B the
event that it is educated. According to the Census Bureau, P(A) = 0.134, P(B) = 0.254,’and the
jointprobability that a household is both prosperous and cducated is P(A and B) 0.080.



B1g Boy Buﬂders has 2 blds out on large contracts. The companypremlent believes that the”
" probabﬂxty of winning the first contract (event A) is 0.6. He believes that the probability of
i ¢ winning the second contract is 0.4. He also believes that there i is an outside chance of winning
both contracts at 0.2.

‘ K a) What is the probubility of winning at least one contract? (Show proper notation)

+

b) What is the probabiﬂty of winning the first contract but not the second? (Show proper notation)

c) What is the probability of winning the second contract given you have won the first contract?
(Show proper notation)

ﬂ d) Prove that winning the first coniract and the second contract are not independent.
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